MTH 132, Section 39 Take-Home Quiz9,10. Due by Fri, Nov 16th

Name:
Complete the problems for 20 points. The scores will be recorded as Quiz9 and Quiz10 (10 pts each).

1. (6 points) Give an isosceles triangle with base 10cm and height 5cm. A rectangle is inscribed with its
base on the base of the isosceles triangle and its upper corners on the two legs (the two two equal sides).
What are the dimensions of such a rectangle with the greatest possible area? Find the greatest possible
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2. (2 points) Find the most general anti-derivative of

area.

tan x secx
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3. (2 points) Evaluate
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MTH 132, Section 39 Take-Home Quiz9,10. Due by Fri, Nov 16th

4. (3 points) A car is moving along z-axis with position x(t), velocity v(¢) at time ¢. Find x(3) if v(t) =
—2t+1 ft/s* and 2(0) =5 ft

}os&‘o‘m/ S wret- 1> % VQIOOVZV)/

i | Xe=0+C=§ .
:>9</@‘—'—7_Xi‘€/+‘{j +C / XbxE -t + 5

S N o N Ay

5. (4 points) Estimate the area yyder the graph of f(z) = 28 + 122 — 2% from x = —2 to x = 14. Find
the estimate of the area using&jrectangles of equal width and left endpoints. (Do not need to simplify.

Just list the sum.) ( _2-> I é) B
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6. (3 points) The limit

J&&Z (3+——4 _]@lé‘rn 4 5

is the limit of a Riemann sum for a certain definite integral f f(z)dz. Find the expression of the
integral. (Find a, b and f(z). DO NOT NEED to EVALUATE.)
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